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1.

1 x 15 = 15

(B)

(C) (D)

(A)
(B)

(D)

(B)

(C) (D)
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(A)

(C)
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(B)

(C) (D)
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[O8]/SNSK-25(NS)/1247
6 of 28



NS-SNSK

fRrsfseH

(A) (B)

(D)

(A) (B)
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(A) (B)

(D)
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2 1×11=11

"yfAa(4-yAF?

(viil)
AY?
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(ix)

x)

(xi)

(xii)

(xv)

(frRgfsfsz/qayars rtefa)

5x4 =20

(a)
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2+3

(d)

1+ 1 + 3

1 + 1 + l +2

frsf ( Alao)

(h)
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4. 4x 1 =4

(a)

(b)

5.

1x3 =3

(a)

(b)

(c)

(d)

(e)

6.

(a) qenfafy 2rrg

2 x2 =4

(b)

(c)
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7. 1 x2=2

la - 3HTAuf

(b)

(c)

1x3 =3

(a) (b)

(c) (d)

(e)

9. 1x3= 3

(a)
(b)

(c)
(d) + 31U

(e)
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5x 1=5

5x 1 =5

(a)
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5x 1 = 5

(a)

(b)

(c) THEfA: |
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